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Probability Ex 33.4 Q1(a)

Given,

Pl{A)=0.4
P(B)=05

~ Aand 8 are mutually exclusive events, then P(A~n8) =10

Now,
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(i)
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plave)=pr(A)+r(8)
- 0.4+40.5

= 0.9 ‘
P(AVB)-O.Q @’i@%

PlanB)=1-r(avs) ~
-1-09 Q\g‘

=0.1 A QL
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PlanE)=01 O
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Plane)=p(e)-p(ans) &
=0.5-0 o>

P(ZAB) -0.5

P(AAB_)-P{A)-P(AAB)
=0.4-0
=0.4
P(AAE)-OA



Probability Ex 33.4 Q1(b)

Given,

(i}

i)

fv)

p{A)=0.54
P(8)=069
P(AnB8)=0.35

plava)=pr(A)+pr(8)-P[(an8)
» 0.54+0.69-0.35
«1.23-0.35

plAvs)=0.88

PlanE)=1-r(ava) \

=1-0.88 8.9 9
=0.12 \%@
Q‘\

PlanE)=0.12 \
OF
P(AAE)-P(A)-P \Qﬁ"
o W

p(AAE]-o.w

Plena)=r(8)-r(ans)
=0.69-0.35
= 0.34
P[Baﬁ)-ﬂ.a-t



Probability Ex 33.4 Q1(c)
() Given,
P(A]-%, P(AAB)-:—S
ele)=g,  PlAvE)=..
v P(AvB)=pr(A)+P(B)-P(AnB)

(i) Given,

P(AnB)=0.25 PlAvs
v P(AvB)=P(A)+P(8)-P(AnB)
0.6 =0.35+P(8)-0.25
0.6=0.10+7(8)
P(8)=06-0.1

P(B)=0.5

P (A) = 0.35, P (B]-

6



(i) Given,
P(A)=0.5, P(B)=0.35
P(AAB)-... s P(AvB)-U.?
v PplAave)=rlA)+pP(8)-P(AnE)
0.7=0.5+0.35-2(A~B)
0.7=0.85-P(An8)
P(An8)=085-07

P(An8)=0.15

Probability Ex 33.4 Q2 @
(-

We know by addition theorem on probability v R\
plAve)=r(A)+P(8)-P(An8) & &éﬁ’
= 0.5=0.3+0.4-P(An8) %}\‘(&
P(AnB)=0.3+0.4-0.5 e o}”
=0.7-0.5 2
=0.2 £ '\ QQ
@ F YN
~ P(AnB)=0.2 § T N
, sg;
Probability Ex 33.4 Q3 P

We know by addition theorem on probability
P(Au8)=P(A)+P(8)-P(An8)
«0.5+0.3-0.2
=0.8-0.2
= 0.6

. P(AvB)=0.6



Probability Ex 33.4 Q4

We know,
plAve)=0.8
P(AnB)=0.3
p(a)=0s

= 1-P[A)=05

= P(A)=1-0.5=0.5

Now, by addition theorem on probabiltiy
P(AvB)-P[A)-&P(B}-P(AnB)

08=05+~,(8)-03
0e=p(8)+0.2
P(B)=08-02
=0.6
. P(B)=0.6

Probability Ex 33.4 Q5

Given,

P(A)-%

p(e)-%

- A and B are mutually exclusiv

PlAavg)=pr(A)+P(8)
-i-.-l
3
=3+2

6
-2
5

- plave)-2

nts, then P{An~&)=10



Probability Ex 33.4 Q6
pla)iple)=8:3

1-2(4) 8

PlA) 3
= P(A}-%
P(B):p(8)=5:2

1-r(8) s

PiBi 2

1 5 7
—3 -]l
PiBi 2 2
2
= PlE)=—
(e)-2
w A,8 and C are mutudly exhaustive
AvBuC=§

= Plavavc)=r(s)
= P(A)+P(B)+P(C)=1
Plc)=1-{r(a)+2(a)}

w &
. 0Odds against C is ‘z‘&

_ 43 34
.c-"(E].p(c).ﬁ.ﬁ
=43: 34

Probability Ex 33.4 Q7
let chance in favour of other be x
So x+§ =1

3

x==
5

Odds in favour of other =

=3:2

] rofun | w
ro | W



Probability Ex 33.4 Q8

+ 1 card is drawn from a well shuffled deck of 52 cards
§=" =52

Now,
The favourable events is that drawn card is either spade or a king

Let 4= Event of choosing shade
= 3, =13

8 = Event of choosing a king

= e =4
Also, king can be of spade
(AAB}-I.
PlAavB)=r(A)+P(B)-P(AnB)
=E+1—L
52 52 52
16

" 52
-i
“ (4
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Probability Ex 33.4 Q9 Y % ¢

\$®
§=62=36 . N
Let A4 be the event of choosing doublet.

) » XL
(1), @B, ¢+ 9uss) lo0) AF

Since two dice is thrown, 1

e

»

o e
e

6 {1 | LY
= P3G - \W A &Q?
8 the event of choosing total of 8. Q:i”
N

(o) (45) (59 (03]
4 1 2% O\
= P (8) = g = E %Q
Voot
. Probability of choosing neither §.@oublet nor a total of 9.

-P(/W]-l—P(AuB) -—-{)

P(AuB)=p(A)+P(B)-P(AnB)
11
—E"'a"'o
_3+2
18
5

G

Now,

Now,
Plavs)= —
18

(i) simplies P (m) - 1-%
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